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Note:

The question paper is divided into three sections A, B and C.
Write answers as per the given instructions. In case of any
discrepancy, the English version will be final for all purposes.
Check your paper code and paper title before starting the
paper. Calculators are not allowed.
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Section - A 8XxX2=16

(Very Short Answer Questions)
Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.
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(i) What is the word length of Pentium 4 Microprocessor in
terms of bit?

bit b UG H UfFeTH 4 HATSDHITIRR & 96 TTHeTg TRV |
(i) What is the full form of TTL?
TTL &7 9uf 9 &1 ¢ ?

(iii) Draw the block diagram of Microcomputer.
TSP UYL T cllep forsl aTgU|

(iv) What is the meaning of symbol PSW for microprocessor
8085.
ISR 8085 & oy Ucfies PSW &l T dreddf 8 ?

(v) What does mean by MMU for 803867
80386 & fofly MMU T drcaf a7 87

(vi) Give classification of data transfer schemes.

SCT TR IISTHT3N T FIpRul S|

(vii) "TRAP is unmaskable interrupt for microprocessor 8085".
Is this statement true?

ATShIMIAIR 8085 b folu TRAP Udh 3HR<heol e &’
T Tg PYT I ¢ ?

(viii) Write the use of "PRIORITY RESOLVER" for 82597?
8259 & o1t "PRIORITY RESOLVER" &7 39T foTRau|
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Section - B 4X8=32
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.
(Tvs - 9)
ofg] STRII U9 )
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What does mean by "Instruction Cycle"? Discuss the Fetch
operation.

fger Th "Instruction Cycle" A 3MYesT &1 AR g 2 W Afehan
& fademT S|

Explain the Input / Output Hand shaking.
fAaeft / fRfd handshaking 928Ul

Explain the interrupt sequence of 8259.

8259 & IMERIY AIehH Pl AHATSU|

What do you mean by RAM? Explain briefly different types of
RAMs.
RAM S 3TTYeT T 31T 8 2 fafSe IR 6t RAMs @1 deg o

SEEIEN
Discuss the Virtual 8086 mode.
PIeqf~ip 8086 faer &1 fademT Hifvul

Draw the circuit diagram of RTL (Resistance Transistor Logic)
and explain its working.

gfeRIY eifeex difored (RTL) &1 o g1 o sadht erifafey
HHLATRU |

Explain the Bit set / Reset feature of 8255.

8255 1 Bit set / Reset 0T &l FHATSY|

Draw the flowchart of program loop and explain it.

UM Y BT FAaIE a5  $H AHATSU|
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Section-C 2%X16=32
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
16 marks.

(Tvs - ¥)
(Sref ST T9d)
fAder : fhgl @ U9l & SR SINTTI 31T 309 IR B 3ifrad 500
great  gRAT BT TDeh T9T 16 37eht T gl

10) Explain the following / f=T @I A9=T=U|
(a) Fan out / T 3MTST

(b) NMOS Logic / NMOS T

11) Explain the following / f=T @I A9=T=U|
(a) Tristate Logic (TSL) / gls¥cc alfoTep (TSL)

(b) CPU (Central Processing Unit)/CPU (&g Wi 3h18)

12) Draw the Functional Block Diagram of Intel 8259. Discuss its
eight functional blocks.
g ccl 8259 BT haeFdl sclldh o SHIZU AT 3D IS Thar el

ST Pl FHSZU

13) What does mean by "Memory Architecture"?

Describe the write operation and read operation.
TR} Snfdhcaar & 3MUdT a1 araf g ?
write operation T read operation @1 Juie BT |
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